20235 LEESPRINIBFIERILRE BADOL
20235 LEPERILIZBFERILKRE BEBAOE
<fi#Ehtxx BREH>

#B : FMOE6AIR (&)

0T _ERBF-HEBF 25 FEAVE)—H 5T
el EFH ERE - FE |E—H EFH ERE -FE |E—H EFH FRE -FE |E—A EFH ERE - FE |E—H
1] 7:30 | & #@tE | (uipR - 2| g5 |HRE BE HE 1| g | BAE BEZE KB 2| g7 | hUE A 5F 2| g8
2( 7:38 NE E ik 1] g4 | KiE Bifs Bl  -3| g | dkE BN ¥R -2 g | B8 EHE ¥R 2| g5
3| 7:46 | tmI4 B3 Bt 31 79 B B AT - 3| go "R OEE ¥H 1] g3 PE 1% J\EE™) 1| g3
4 7:54 | E #HH ik 1] 79 | B0 xX FE - 2| 79 FE & Bl -3 79 =HH FE 1 79
5( 8:02 | 58 1&H it 2] 18 B2 B Bl -2 73 | 1E EX Rit -3 73 | HEk PE | BEPR 3| 79
6| 8:10 | &+#f fBEA | BRI - 3| 56 | AL K| SFKE -1| 57 |BE mAR =i -1 57 | BF ER | BRWUWE 3| 5
7 8:18 | BEHF B L34 3| 15 | BBEE FIEE ¥R -1 5 | EE =KX B 2| 55 [/MUA K| KB 2 15
8| 8:26 | Bl EE ZH -3 o |MUE RHE| 2HE -3 53 | EF BE ifsr - 3| 14 | B (A ¥R 3| 1
9] 8:34 | T WA | BXIUFE - 3| 4 | Mk MK R 22| g it BR 'l -3 5 [HEAK Bl (2 2l 1
10( 8:42 | HJ)II HEA KiR 3| o4 |tEAAK BRA| BEETRRE -1| 7 | BE EKX HE - 1| o
11| 8:50 | BREH #IZE ¥R 1 o9 #H #EH +FIT - 3| o9 HH =RE KE 1] 102
12| 8:58 s = +HT 2| 109 | EIE [H*R +HI - 2| qq0 [BA EAE| BEPR - 3| 33
13 9:06 |E&JI ZEH #BE— - 3| g R KR XxE -3 g3 [MR OEZTIY| EM= - 3| g3 1w’ 2 g il 36
14 9:14 | #H BX | BHXM - 1| 19 d —% BBl - 3| go [1BB BABR| @M -3| g | FE EXE eH 81
15 9:22 | B#& — | EE— 3| o0 | 8A KEE BBFl - 2| o0 Al Z BSATHRR - 1| o
16| 9:30 | B&R X RES 1| o2 |[BH E—H HIHEE -2 o | FEE & HE -1 104
INO—R BR&XF - PFEXTF
B ] EFH KRG -FE |£—H EFA R4 -FE (£—8 EFH R4 -FF (g8 EFH FRE - FE |£—H
1| 7:30 | £ 4oF it 2| g0 | ®E &Y i 2| 9 |X5 WHBEH HTE -1 0w | KEa & 2H 2] o3
2| 7:38 |tkRARUMY| BEREHPR -1 85 BiE k¥ i 2 87 H BR | EEPR -1 g7 |AHE BIAE| WE— 2 38
3| 7:46 | FEE DB Bk 1 81 iy mF i 1 82 &% =F ¥R -2 83 ML B EE 3 83
4] 7:54 | tkik DA HE 1 77 | IR F&E HE 2 70 | PF BF | BEAPR 2| 19 | BF DH ik 3| g0
5| 8:02 | &% = aF 3| 74 | FlL BK ik 3| 76 | 5 FE | WLWEEIL -1 76 | /MEF ETE =po] 3 77
6] 8:10 | A#M #I ik 3| 69 T8 & i 1] 70 | RE &M % 20 | =6 EE it 20 1
71 8:18 | BS W#E ¥ 2| g5 | KEH BH| =ZRE -1 96 |MMEA E EBE 3| o | HLU EF ¥H 2| o
8| 8:26 (RU 5 57| i -1 98 |ZFEE +tE| =Hit 1] 115 | BTE %kE HE 1| 128
9] 8:34 [k<KRLBY Z & 1 gs | K Y& KAZ 3| go |AW BFAfE| EWm 2| g
10| 8:42 |$&# H AL HEENK 3| g | FH HME & 3| g |/hb WAE| HEO 3| g | H ERE n=& 2| aa
11] 8:50 | FA X£7 <F[H 2 3 | AB B | AER -2 37 | Bk ¥R EA -3 1 IR X F 1] 80
12 8:58 | Bl #kF At 3| o PE S il 1 9 | B ER8 HET -2 | o
13| 9:06 | AR Xtk | #EM -3 | o4 |[fE#E DAXER| BEWER -2 | 101 | BEE WH R -3 | 104

¥ HAEHER. EETI5ENH L.

RiE%E2g - pERIL7ER




